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The Industrial Revolution began in Britain
around 1850, At this time, Quesn Victona
ruled the country. It meant a
transformation of society in the sense that
people moved from the countryside to the
towns to work in factories. Liverpool and
tanchester became important industrial
cities whose factories produced much air

pollistion.

-

ﬁl':e_nn'gin was in the discovery of coke as
an important energetic resource and the
inwention of the steam engine by James
‘Wiatt, Until 17605, goods were hand made
by people working in small workshops.
ietalworkers made nails, pins and knives,
and spinners and weavers pmduced
woolen and linen cloth, However the
invention of & flying shuttle, the Spinning
Jenmy by James Hargreaves and the heavy
spinning frame accelerated the weaving
process  and  left  many  weavers

\ﬂempknyed.

ﬁlﬁhe other hand, the invention of the
steam engine meant the development of the
first public raibway. Moreover, canals were
built to bring raw materiak to fact@ries.

Towns grew rapidly, but housing and working
conditions were often very poor and fnany

Read what Lisa and her teachers say
abmrt the industrial Revoldtion and
determine if these statements are Troe or
False . Then, complete the text

1.- The Industrial Revolulion emerped
during the reign of Queen Victoria. D

2.-James Watt invented the spinning
o (]

3.~ The tonsms Became the centre of British
ECDNoY .

d.- James Watt contributed to the
invention of locomotives . D

5.~ Working conditions wenre excellent

Techrological, focomotives,
aggrarian, machines, Britein, world,
steam, arbanisation

The Industrial Fevolution' refers to a period
of masshve economic,(1} ......, socid and
cultural change. At it simplest, a mainly (2)
. world economy based on
manual labour was transformed into one of
industry and manufacturing by (3]

it is characterised by dewelopments
texties, iron and {d) ... , the rapid
[BLceiciene . 0f towns, the buiding of
canalz and the development of new means

people suffer from hunger, disease or of transports ke the(é) . It first began
accidents at work. Children aged-anly five ¥ Sl AU TN @) Do
could work in coal mines, Same of them spreading to the rest of the(B) ...,

pulled heavy loads while others sat all day in
darkress, opening and closing doors to let
the air circulate. The writar Charles Dickens

denounces the cruel exploitation of children
in some of his novels,

Presend the pros and cons of Industrial Revoltion. The images can

inchuding the LISA.

ADVANTAGES

DISADVANTAGES
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